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Ve IR R T 3.30 0. 00 0. 00 1. 50 0.0 0.0 39. 39.0| 7 A7 7 b ML IREBRIBAT
42.3 0 42. 0 0. 00 0. 00 0. 80
Ve R HE T 0. 00 0. 00 0. 00 0. 80 0.0 0.0 54. 54.0| 7 A7 7 )b Nk | EmgEB 77
42.3 0 42. 0 3. 30 0. 00 1. 50
Ve R R T 3.30 0. 00 0. 00 1. 50 0.0 0.0 71. T1.5(7 A7 7L MMk e E@gmcs v~
42.3 40 42. 12 0. 00 0. 00 0. 80
Ve R T 0. 00 0. 00 0. 00 0. 80 0.0 0.0 39. 39.0| 7 A7 7 b Ml IR EERBD I L7
42.3 43 42. 82 3. 30 0. 00 1. 50
Ve R 3.25 0. 00 0. 00 1. 50 2.0 0.0 0. 2.0[7 A7 7 v %
42.3 0 42. 2 3.25 2.55 2.10
Ve R 3.25 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 /L b Eifidk
42.3 2 42. 0 3.25 2. 60 1. 50
Ve R T 3.25 0. 00 0. 00 0.55 100. 0 0.0 0. 100. 0|7 2 7 7 /L bl
42. 4 0 42. 0 3.25 2. 60 1. 50
Ve R HE T 9.75 4. 00 0. 00 1.50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v b &lidk
42.5 0 42. 0 6. 50 2. 00 4. 50
Ve WA R HE T 6. 50 4. 00 0. 00 1.50 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bt
42.6 0 42. 0 9.75 2. 00 1. 00
Ve IR R T 9.75 2. 00 0. 00 0.25 100. 0 0.0 0. 100. 0|7 2 7 7 v R édidE
42.7 0 42. 0 6. 50 3. 00 0.90
Ve AR HE T 6. 50 2. 00 1.70 0. 50 20. 0 0.0 0. 20.0|7 27 7L s
42.8 0 42. 20 6. 50 2. 00 0. 50
Ve R R T 6. 50 2.50 1. 70 0.50 0.1 0.0 20. 21.0|7 A7 7 )L MEEEE |mmig
42.8 20 42. 41 6. 50 2.55 0. 50
Ve R T 6. 50 2.50 1. 50 0. 50 49.0 0.0 0. 49. 0|7 A 7 7 L bk
42.8 41 42. 90 6. 50 2. 00 0. 50
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Ve L R T 6. 50 2.50 1. 50 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
42.8 90 ~ 42.9 90 6. 50 2. 00 0. 50

Ve R HE T 6. 50 2.50 1. 20 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
42.9 90 ~ 43.0 90 6. 50 2. 50 0. 50

Ve R T 6. 50 2. 00 1. 40 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
43.0 90 ~ 43.1 90 6. 50 2.50 0. 50

Ve R T 6. 50 2. 00 1. 80 0. 30 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
43. 1 90 ~ 43.2 91 6. 50 2. 00 0. 60

Ve R 6. 50 2. 00 1. 20 0. 30 58.0 0.0 0.0 58. 07 A7 7 /L bk
43.2 91 ~ 43.3 52 6. 50 2. 00 0. 60

Ve R 6. 50 2.50 1. 20 0.35 0.0 0.0 38.0 38.0[7 27 7 /L bk
43.3 52 ~ 43.3 90 6. 50 2.55 0. 50

Ve R T 6. 50 2.50 1. 20 0.35 0.0 0.0 52.3 52. 3|7 27 7 /L bk
43.3 90 ~ 43.4 43 6. 50 2.55 0. 50

Ve R HE T 6. 50 2. 00 1.20 0. 50 45.7 0.0 0.0 45. 7|7 A7 7 )b M EfdE
43.4 43 ~ 43.4 91 6. 50 2. 00 0. 50

Ve WA R HE T 6. 50 2. 00 1.20 0. 50 78.0 0.0 0.0 78.0| 7 A7 7L b ALk
43.4 91 ~ 43.5 68 6. 50 2. 00 0. 50

Ve IR R T 6. 50 2. 00 1. 50 0. 30 120. 0 0.0 0.0 120. 0|7 2 7 7 v RadidE
43.5 68 ~ 43.6 90 6. 50 2. 00 0. 30

Ve AR HE T 6. 50 2. 00 1. 50 0. 30 100. 0 0.0 0.0 100. 0|7 2 7 7 )L s
43.6 90 ~ 43.7 89 6. 50 2. 00 0. 30

Ve R T 6. 50 2. 50 1. 50 0. 30 100. 0 0.0 0.0 100. 0|7 2 7 7 )L i
43.7 89 ~ 43.8 89 6. 50 2.50 0. 30

Ve R T 6. 50 2. 00 1. 50 0. 20 127.0 0.0 0.0 127. 0|7 A7 7 )L bl
43.8 89 ~ 44.0 25 6. 50 2.50 0.20
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Ve R R HE T 3. 00 2. 50 0. 00 0.75 101.0 0.0 0.0 101. 0| 7 2 7 7 v ot s
44.0 0 ~ 44. 1 0 3. 00 0. 00 0.75

Ve R HE T 6. 50 2. 00 0. 00 0. 30 85.0 0.0 0.0 85.0|7 27 7 /L it
44.0 25 ~ 44. 1 9 9.75 2. 00 0. 50

Ve R T 3.00 2.50 0. 00 1.25 102. 0 0.0 0.0 102. 0|7 2 7 7 )L MEHSE [arem
44. 1 0 ~ 44.1 100 3. 00 0. 00 0.75

Ve R T 6. 50 2. 00 2. 40 0. 30 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
44. 1 9 ~ 44. 2 9 6. 50 2. 00 0. 30

Ve R 3. 00 2. 50 0. 00 0.75 108. 0 0.0 0.0 108. 0|7 A 7 7 /v afdE [arin
44.1 100 ~ 44.3 8 3. 00 0. 00 0.75

Ve R 6. 50 2. 00 2. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b Eifidk
44. 2 9 ~ 44.3 9 6. 50 2.50 0. 50

Ve R T 3. 00 2. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L MEfE e
44.3 8 ~ 44. 4 3 3. 00 0. 00 0.75

Ve R HE T 6. 50 1.50 1.00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
44.3 9 ~ 44. 4 8 6. 50 3. 00 0.75

P W R e T 3.00 2. 50 0. 00 0.75 103.0 0.0 0.0 103. 0|7 2 7 7 v Nt g
44. 4 3 ~ 44.4 103 3. 00 0. 00 1. 00

Ve IR R T 9.75 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
44. 4 8 ~ 44.5 10 6. 50 3. 00 0.75

Ve AR HE T 3.00 2.50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L MEHEE [aremm
44.4 103 ~ 44.5 92 3. 00 0. 00 1. 00

Ve R R T 6. 50 1. 50 2. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
44.5 10 ~ 44. 6 9 6. 50 3. 00 0.75

Ve R T 3.00 2.50 0. 00 0.75 108. 0 0.0 0.0 108. 0|7 A7 7 )b S et
44.5 92 ~ 44.7 0 3. 00 0. 00 0.75
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Ve L R T 6. 50 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
44. 6 9 ~ 44.7 13 9.75 3. 00 0.25

Ve R HE T 3.00 0. 00 0. 00 0.75 103.0 0.0 0.0 103. 0|7 27 7 )L EdEE |
44.7 0 ~ 44.8 1 3. 00 2.15 0.75

Ve R T 6. 50 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
44.7 13 ~ 44. 8 6 6. 50 3. 00 0.75

Ve R T 3.00 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 v Nk e
44. 8 1 ~ 44.8 101 3. 00 2.15 0.75

Ve R 6. 50 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A 7 7 )L bl
44. 8 6 ~ 44.9 9 6. 50 3. 00 0.75

Ve R 3.00 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 A 7 7 )L MEfEE |3
44.8 101 ~ 44.9 97 3. 00 2.15 0.75

Ve R T 6. 50 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b &l
44.9 9 ~ 45.0 10 6. 50 3. 00 0.75

Ve R HE T 3. 00 2. 00 0. 00 1.25 112.0 0.0 0.0 112. 0[ 7 A7 7 /v M s
44.9 97 ~ 45. 1 9 3. 00 2.15 0.75

Ve WA R HE T 6. 50 1.50 2. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
45.0 10 ~ 45. 1 9 6. 50 3. 00 0.75

Ve IR R T 3.00 2. 70 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 /L Nl |
45. 1 9 ~ 45. 2 0 3. 00 0. 00 0.75

Ve AR HE T 6. 50 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L s
45. 1 9 ~ 45.2 9 9.75 3. 00 0.25

Ve R R T 3.00 2. 00 0. 00 0. 50 102. 0 0.0 0.0 102. 0|7 A7 7 )L b EhEE |
45. 2 0 ~ 45.3 2 3. 00 0. 00 0. 50

Ve R T 6. 50 1. 50 2. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
45. 2 9 ~ 45.3 10 6. 50 3. 00 0.75
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Ve R R HE T 3. 00 3. 00 0. 00 0. 50 103. 0 0.0 0.0 103. 0| 7 2 7 7 v sk s
45.3 2 ~ 45. 4 2 3. 00 0. 00 0. 50

Ve R HE T 6. 50 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
45.3 10 ~ 45. 4 10 9.75 3. 00 0.25

Ve R T 3.00 2.75 0. 00 0. 50 102. 0 0.0 0.0 102. 0|7 2 7 7 )L MEHSE [arem
45. 4 2 ~ 45.5 2 3. 00 0. 00 0. 50

Ve R T 6. 50 1. 50 2. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
45. 4 10 ~ 45.5 10 6. 50 3. 00 0.75

Ve R 3. 00 2.25 0. 00 0. 50 102. 0 0.0 0.0 102. 0|7 A 7 7 /v MaAE [arin
45.5 2 ~ 45. 6 2 3. 00 0. 00 0. 50

Ve R 6. 50 1. 50 2. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b Eifidk
45.5 10 ~ 45. 6 8 6. 50 3. 00 0.75

Ve R T 3. 00 2. 50 0. 00 0.75 102.0 0.0 0.0 102. 0|7 A7 7 )b MEfSE e
45. 6 2 ~ 45.7 2 3. 00 0. 00 0.75

Ve R HE T 6. 50 1.50 2. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
45. 6 8 ~ 45.7 10 6. 50 3. 00 0.75

P W R e T 3. 00 2. 50 0. 00 0.75 102.0 0.0 0.0 102. 0|7 2 7 7 v Nt g
45.7 2 ~ 45.8 3 3. 00 0. 00 0. 50

Ve IR R T 6. 50 3. 00 2. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
45.7 10 ~ 45.8 11 6. 50 3. 00 0.75

Ve AR HE T 3.00 2. 00 0. 00 0. 50 75.0 0.0 0.0 75.0| 7 A2 7 7V MEESE |
45.8 3~ 45.8 78 3. 00 0. 00 0. 50

Ve R R T 9.75 3. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
45. 8 11 ~ 45.9 10 6. 50 3.50 0.75

Ve R T 3.00 0. 00 0. 00 0. 50 0.0 0.0 171.1 171 1|7 A7 7 )b M | E66
45.8 78 ~ 46.0 55 3. 00 2. 00 0. 50 iS55
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Ve L R T 6. 50 3. 00 2. 40 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
45.9 10 46. 10 6. 50 3. 00 0.75
Ve R HE T 6. 50 3. 00 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 L s
46.0 10 46. 10 9.75 2. 00 0.25
Ve W R HE T 3.00 0. 00 0. 00 2.50 52.9 0.0 0. 52.9|7 A2 7 7 MEEAE (g
46.0 55 46. 8 3. 00 1. 90 0.75
Ve R T 3.25 0. 00 0. 00 2. 50 128.0 0.0 0. 128. 0|7 A7 7 )b MEHEE et
46. 1 8 46. 136 3.25 1. 90 0.75
Ve R 6. 50 2. 80 2. 60 0.75 100. 0 0.0 0. 100. 0|7 A 7 7 )L bl
46. 1 10 46. 8 6. 50 2. 00 0.75
Ve R 6. 50 3.20 0. 00 0. 50 32.0 0.0 0. 32.0| 7 A2 7 7 /b M (e
46.1 136 46. 168 3.25 3.50 0. 50
Ve R T 6. 50 2. 00 0. 00 0.70 0.6 0.0 10. 11.0|7 A7 7 /v MadiEE [wm)nim
46.1 168 46. 179 3.25 2. 00 0. 80 Y5
Ve R HE T 3.25 2. 40 0. 00 0.75 13.0 0.0 0. 13.0| 7 A 7 7 )b MEHEE [gres
46.1 179 46. 192 3.25 2. 50 0.75
Ve VAR HE T 3.25 2. 50 0. 00 0. 50 0.0 0.0 22. 22.0(7 A7 7 /v MM T
46.1 192 46. 214 3.25 2.50 0.50 Y
Ve IR T 3.25 2.50 0. 00 0. 50 0.0 0.0 124. 124. 0|7 A 7 7 )b MEREE it ses
46.1 214 46. 338 3.25 2. 50 0. 50 YRS
Ve AR HE T 3.25 2.50 0. 00 0. 50 0.0 0.0 202. 202. 0|7 A 7 7 /L ML R EmS
46.1 338 46. 540 6. 50 2.50 0. 50 Y
Ve R R T 6. 50 4. 20 2. 60 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
46. 2 8 46. 9 6. 50 2. 00 0.75
Ve R T 6. 50 1.70 2. 80 0.75 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
46.3 9 46. 5 6. 50 2. 00 0.75
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Ve L R T 6. 50 2. 70 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
46. 4 5 ~ 46. 5 2 9.75 3. 00 0.25

Ve R HE T 6. 50 2.20 2. 60 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
46. 5 2 ~ 46. 6 9 6. 50 1. 80 0.25

Ve R T 6. 50 3.20 2. 60 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
46. 6 9 ~ 46. 7 9 6. 50 2. 00 0. 50

Ve R T 9.75 3.20 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
46. 7 9 ~ 46.8 9 6. 50 3. 00 0. 50

Ve R 6. 50 2. 50 2. 60 0. 50 100. 0 0.0 0.0 100. 0|7 A 7 7 )L bl
46.8 9 ~ 46.9 5 6. 50 3. 00 0. 50

Ve R 9.75 2.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b Eifidk
46.9 5 ~ 47.0 9 6. 50 2.25 0. 50

Ve R T 6. 50 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
47.0 9 ~ 47. 1 9 6. 50 2.25 0. 50

Ve R HE T 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
47. 1 9 ~ 47.2 8 3.25 2.25 0. 50

Ve AR HE T 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
47.2 8 ~ 47.3 9 3.25 2.25 0. 50

Ve IR R T 3.25 0. 00 0. 00 0. 50 33.0 0.0 0.0 33.0[7 27 7 /L Nk
47.3 9 ~ 47.3 42 3.25 2.25 0. 50

Ve AR HE T 3.25 0. 00 0. 00 0. 50 0.3 0.0 17.7 18. 0|7 A2 7 7 v ot [mmpie
47.3 42 ~ 47.3 60 3.25 3. 00 0. 50

Ve R R T 3.25 0. 00 0. 00 0. 50 50.0 0.0 0.0 50. 0|7 2 7 7 /L kAl
47.3 60 ~ 47. 4 9 3.25 2. 00 0. 50

Ve R T 3.25 0. 00 0. 00 0. 50 18.0 0.0 0.0 18. 0|7 A7 7 /b b il
47. 4 9 ~ 47.4 27 3.25 2. 00 0. 50
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Ve L R T 3.25 0. 00 0. 00 0. 50 0.3 0.0 20. 7 21.0| 7 2 7 7 v NEHEE |rbEmig
AT.4 27 ~ A7.4 48 3.25 3. 00 0. 50

Ve R HE T 3.25 0. 00 0. 00 0. 50 62.0 0.0 0.0 62.0|7 27 7 L EfidE
A7.4 48 ~ 47.5 9 3.25 2. 00 0. 50

Ve R T 3.25 0. 00 0. 00 0.50 87.3 0.0 12.7 100. 0|7 2 7 7 /v N&H%E |+ mis
47.5 9 ~ 47.6 9 3.25 2.50 1. 50

Ve R T 3.25 0. 00 0. 00 0. 50 80.0 0.0 0.0 80. 0|7 A7 7 /L k&t
47.6 9 ~ 47.6 90 3.25 2.50 1. 50

Ve R 3.25 0. 00 0. 00 1. 00 29.0 0.0 0.0 29. 0|7 A7 7L b &Lk
47.6 90 ~ 47.7 19 3.25 2.50 1. 50

Ve R 3.25 0. 00 0. 00 0. 50 0.9 0.0 28. 1 29.0(7 A 7 7 /v ML |pes
47.7 19 ~ 47.7 48 3.25 0. 00 1. 50

Ve R T 3.25 0. 00 0. 00 1.25 43.0 0.0 0.0 43.0|7 A 7 7L bk
AT.T 48 ~ 47.7 91 3.25 2.10 1.25

Ve R HE T 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
AT.7T 91 ~ 47.8 90 3.25 2. 00 1.25

Ve AR HE T 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bl
47.8 90 ~ 48.0 0 3.25 2. 00 1. 00

Ve L R T 3.25 0. 00 0. 00 0. 50 0.0 0.0 91.0 91. 0| 7 2 7 7 v NEdEE |EEkln
48.0 0 ~ 48.0 91 3.25 2. 00 0. 50

Ve AR HE T 3.25 0. 00 0. 00 0.75 0.0 0.0 100. 0 100. 0|7 A 7 7 )L NEd4E |prkkois
48.0 91 ~ 48. 1 90 3.25 2. 00 0.75

=4 RE ] 3.25 0. 00 0. 00 0.75 0.0 0.0 100. 0 100. 0| 7 2 7 7 v N&H%E |rEm it
48. 1 90 ~ 48. 2 91 3.25 2. 00 0.75

Ve R T 3.25 0. 00 0. 00 0. 50 0.0 0.0 34.0 34.0| 7 A7 7 /b MEAE |
48.2 91 ~ 48.3 25 3.25 2. 00 0. 50
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Ve L R T 3.25 0. 00 0. 00 0.75 77.0 0.0 0.0 T7.0|7 27 7L ik
48.3 25 ~ 48. 4 0 3.25 2.10 0. 50

Ve R HE T 3.25 0. 00 0. 00 2.50 46. 0 0.0 0.0 46. 0|7 27 7 L s
48. 4 0 ~ 48.4 46 3.25 2. 00 2.50

Ve R T 6. 50 0. 00 1. 50 0.50 55.0 0.0 0.0 55.0[7 2 7 7 /L ki
48.4 46 ~ 48.4 100 6. 50 2. 00 0. 50

Ve R T 6. 50 3.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
48.4 100 ~ 48.5 102 6. 50 2.70 0. 50

Ve R 6. 50 4. 00 2. 00 0.85 100. 0 0.0 0.0 100. 0|7 A 7 7 )L bl
48.5 102 ~ 48.6 99 6. 50 3. 00 0.85

Ve R 6. 50 2. 00 1.75 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b Eifidk
48.6 99 ~ 48.8 1 6. 50 2. 00 0.75

Ve R T 6. 50 2.15 1. 50 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b &l
48.8 1 ~ 48.8 101 6. 50 2. 50 0. 65

Ve R HE T 6. 50 2.15 1.50 1.15 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
48.8 101 ~ 48.9 99 6. 50 2. 50 0.70

Ve WA R HE T 6. 50 2. 10 1.10 0. 80 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
48.9 99 ~ 49.0 100 6. 50 2. 50 0.75

Ve IR R T 6. 50 2. 00 1.51 0. 50 125.0 0.0 0.0 125.0(7 2 7 7 v Radide
49.0 100 ~ 49.2 25 6. 50 2.10 2. 40

Ve AR HE T 6. 50 2.20 4. 00 1. 00 140. 0 0.0 0.0 140. 0|7 2 7 7 )L s
49.2 25 ~ 49. 4 1 6. 50 2. 00 0. 50

Ve R T 6. 50 2. 00 2.50 0.75 114.0 0.0 0.0 114. 0|7 2 7 7 )L e
49. 4 1~ 49.5 15 6. 50 2. 00 0.75

Ve R T 6. 50 2.50 1. 50 0. 50 80.0 0.0 0.0 80. 0|7 A7 7 /L k&t
49.5 15 ~ 49. 6 1 6. 50 4.50 0. 50
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Ve L R T 6. 50 2.50 1. 50 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
49. 6 1 ~ 49. 4 6. 50 2.50 0.75

Ve R HE T 6. 50 1. 90 1. 60 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 L s
49.7 4 ~ 49. 4 6. 50 2.10 0. 80

Ve R T 6. 50 1. 90 1. 60 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
49.8 4 ~ 49. 3 6. 50 2.10 0. 80

Ve R T 6. 50 2. 90 3. 40 0. 70 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
49.9 3~ 50. 4 6. 50 2. 30 0.70

Ve R 6. 50 3. 00 3.00 0. 50 100. 0 0.0 0. 100. 0|7 A 7 7 )L bl
50. 0 4 ~ 50. 101 6. 50 2.65 0. 50

Ve R 6. 50 3. 00 2. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L b Eifidk
50.0 101 ~ 50. 1 6. 50 2. 00 0.75

Ve R T 6. 50 3.20 1. 50 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L b &l
50. 2 1 ~ 50. 4 6. 50 2.55 0. 50

Ve R HE T 6. 50 3. 20 1.50 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v b &lidk
50. 3 4 ~ 50. 3 6. 50 2.55 0.75

Ve WA R HE T 6. 50 2. 00 2. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
50. 4 3 ~ 50. 6 6. 50 2.25 0. 50

Ve IR R T 6. 50 2.50 2.50 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
50. 5 6 ~ 50. 0 6. 50 2. 00 0.75

Ve AR HE T 6. 50 2.50 2.50 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L s
50. 6 0 ~ 50. 1 6. 50 2. 00 0.75

Ve R R T 6. 50 2. 00 1. 00 0.75 128.0 0.0 0. 128.0|7 2 7 7 )L it
50. 7 1~ 50. 29 6. 50 2. 00 0.75

Ve R T 6. 50 2. 00 1. 50 0. 70 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
50.8 29 ~ 50. 30 6. 50 2.70 0.75
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Ve L R T 6. 50 2. 00 1. 50 0. 80 70.0 0.0 0. 70. 0|7 2 7 7 /L NdidE
50. 9 30 51. 6. 50 2.50 0.75
Ve R HE T 6. 50 2. 00 1. 50 0. 80 100. 0 0.0 0. 100. 0|7 2 7 7 L s
51.0 0 51. 6. 50 2. 50 0.75
Ve R T 6. 50 2. 00 2. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
51.1 1 51. 6. 50 2. 80 0. 80
Ve R T 6. 50 2. 50 1. 10 0. 90 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
51.2 2 51. 6. 50 1.90 0. 80
Ve R 6. 50 2. 70 2.10 0. 80 100. 0 0.0 0. 100. 0|7 A 7 7 )L bl
51.3 2 51. 6. 50 2.30 0. 80
Ve R 6. 50 2. 00 3. 60 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L b Eifidk
51.4 2 51. 6. 50 2. 00 0. 80
Ve R T 6. 50 2. 00 1. 40 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
51.5 1 51. 6. 50 2. 40 0. 80
Ve R HE T 6. 50 3. 00 2. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
51.6 0 51. 6. 50 2.90 0. 80
Ve AR HE T 6. 50 3. 50 1.50 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
51.7 0 51. 6. 50 2. 80 0.75
Ve IR R T 6. 50 2.50 1. 50 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
51.8 0 51. 6. 50 2. 80 0.75
Ve AR HE T 6. 50 3. 00 1. 50 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L s
51.9 0 52. 6. 50 2.10 0.75
Ve R R T 6. 50 3.00 1. 50 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
52. 0 0 52. 6. 50 2.10 0.75
Ve R T 6. 50 2.50 1. 40 1. 00 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
52. 1 0 52. 6. 50 2.10 0.75
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Ve L R T 6. 50 2.50 1. 40 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
52.2 0 ~ 52.3 0 6. 50 2.10 0.75

Ve R HE T 6. 50 2.50 1. 40 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
52.3 0 ~ 52. 4 0 6. 50 2. 00 0.75

Ve R T 6. 50 2.50 3.30 1.25 58.0 0.0 0.0 58. 07 2 7 7 /L ki
52. 4 0 ~ 52.4 58 6. 50 1. 00 0. 80

Ve R T 6. 50 3. 00 0. 00 0.75 43.0 0.0 0.0 43. 0|7 A 7 7L bk
52.4 58 ~ 52.5 0 6. 50 0. 00 0. 50

Ve R 3.25 4. 00 0. 00 0.75 119.0 0.0 0.0 119. 0|7 A7 7 )L bl
52.5 0 ~ 52.5 119 6. 50 1. 00 2. 00

Ve R 3.25 0. 00 0. 00 0. 50 81.0 0.0 0.0 81.0|7 A7 7 /L btk
52.5 119 ~ 52.5 200 6. 50 0. 00 3. 80

Ve R T 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
52.5 200 ~ 52.5 300 6. 50 0. 00 3. 80

Ve R HE T 3.25 1.50 0. 00 0. 50 66. 0 0.0 0.0 66.0|7 A7 7 )L EfdE
52.5 300 ~ 52. 6 1 6. 50 0. 00 3. 00

Ve WA R HE T 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bl
52. 6 1 ~ 52.6 101 6. 50 0. 00 1. 50

Ve IR R T 3.25 1. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
52.6 101 ~ 52.8 2 3.25 0. 00 1.25

Ve AR HE T 3.25 2. 00 0. 00 0.75 92. 8 0.0 7.2 100. 0|7 A 7 7 )L N |5 446
52.8 2 ~ 52.9 8 3.25 0. 00 1. 50

=4 RE ] 3.25 2. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
52.9 8 ~ 52.9 108 3.25 2.50 0.75

Ve R T 3.25 2.50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
52.9 108 ~ 53. 1 2 3.25 2. 50 0.75

12 /39 R—=Y




I

i

=

R
%

R
HARA 0202 HE
g = E R
X ] (BBt B0, BT DD m m I T D TS T
HOGE | A GE | oBER | B OF | B OB | hrxa 1% i
Ve L R T 3.25 1. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
53. 1 2 53. 2 3.25 2.50 0. 50
Ve R HE T 3.25 1. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L s
53.2 2 53. 1 3.25 2. 50 0. 50
Ve R T 3.25 1. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
53.3 1 53. 1 3.25 2.50 0. 50
Ve R T 3.25 1. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
53. 4 1 53. 0 3.25 2. 50 0. 50
Ve R 3.25 1. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A 7 7 )L bl
53.5 0 53. 0 3.25 2.50 1. 00
Ve R 3.25 0. 60 0. 00 1. 00 100. 0 0.0 0. 100. 0|7 2 7 7 )L b Eifidk
53. 6 0 53. 8 3.25 2.50 0. 50
Ve R T 3.25 2. 00 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
53.7 8 53. 1 3. 50 2. 50 0.75
Ve R HE T 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
53.8 1 53. 0 3.25 2. 00 0.75
Ve AR HE T 3.25 3. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
53.9 0 54. 0 3.25 3. 00 0. 50
Ve IR R T 3.25 3. 00 0. 00 0. 50 67.0 0.0 0. 67.0|7 27 7 /L kb
54. 0 0 54. 67 3.25 3. 00 0. 50
Ve AR HE T 3.25 3. 00 0. 00 0. 50 1.0 0.0 27. 28.0|7 27 7 v Nl i
54.0 67 54. 95 3.25 3. 00 0. 50
Ve R R T 3.25 3.00 0. 00 0. 50 112.0 0.0 0. 112. 0|7 27 7 )L e
54.0 95 54. 0 3.25 3. 00 0. 50
Ve R T 3.25 2.50 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
54.2 0 54. 1 3.25 3. 00 0. 50
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Ve L R T 3.25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
54.3 1 ~ 54. 4 1 3.25 0. 00 0.75

Ve R HE T 3.25 2.50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
54. 4 1 ~ 54.5 1 3.25 0. 00 0.75

Ve R T 3.25 1.75 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
54. 5 1~ 54.6 0 3.25 0. 00 0.75

Ve R T 3.25 1.75 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
54. 6 0 ~ 54.6 100 3.25 0. 00 0.75

Ve R 3.25 1.75 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A 7 7 )L bl
54.6 100 ~ 54.8 0 3.25 0. 00 0. 50

Ve R 3.25 1.75 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b Eifidk
54. 8 0 ~ 54.8 100 3.25 0. 00 0. 50

Ve R T 3.25 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
54.8 100 ~ 54.9 100 3.25 0. 00 0.75

Ve R HE T 3.25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
54.9 100 ~ 55.0 100 3.25 0. 00 0.75

Ve AR HE T 3.25 1.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
55.0 100 ~ 55.1 100 3.25 0. 00 0. 50

Ve IR R T 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
55.1 100 ~ 55.2 98 3.25 0. 00 0.75

Ve AR HE T 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L s
55.2 98 ~ 55.3 99 3.25 0. 00 0.75

Ve R T 3.25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L i
55.3 99 ~ 55.4 100 3.25 0. 00 0.75

Ve R T 3.25 0. 00 0. 00 1. 00 25.0 0.0 0.0 25. 0|7 A7 7L bk
55.4 100 ~ 55.5 25 3.25 0. 00 0.75
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Ve L R T 3.25 0. 00 0. 00 1. 00 75.0 0.0 0.0 75. 0|7 2 7 7L Nk
55.5 25 ~ 55. 6 0 3.25 0. 00 0.75

Ve R HE T 3.25 2. 00 0. 00 0. 50 74.0 0.0 0.0 74.0| 7 27 7 L sk
55. 6 0 ~ 55. 6 74 3.25 0. 00 1.25

Ve R T 3.25 2. 00 0. 00 0. 50 0.0 0.0 37.5 37.5|7 2 7 7/ MEEME |viaE
55. 6 74 ~ 55. 7 1 3.25 0. 00 0.75

Ve R T 3.25 2. 00 0. 00 1.25 89.0 0.0 0.0 89. 0|7 A7 7 /L k&t
55. 7 1 ~ 55.7 90 3.25 0. 00 0.75

Ve R 3.25 2. 50 0. 00 0.75 23.0 0.0 0.0 23.0|7 A7 7L bk
55.7 90 ~ 55. 8 13 3.25 0. 00 0.75

Ve R 3.25 2.50 0. 00 0.75 55.0 0.0 0.0 55. O[HEAKME&#LS
55. 8 13 ~ 55.8 68 3.25 0. 00 0.75

Ve R T 3.25 2.50 0. 00 0.75 122.0 0.0 0.0 122. 0|7 27 7 )L bl
55.8 68 ~ 56. 0 0 3.25 0. 00 0.75

Ve R HE T 3.25 2. 50 0. 00 0.75 50. 0 0.0 0.0 50. 0| 7 A 7 7 /L b &%k
56. 0 0 ~ 56.0 50 3.25 0. 00 0.75

Ve VAR HE T 3.25 2. 50 0. 00 0.75 50. 0 0.0 0.0 50. 0| HE/k Mk
56. 0 50 ~ 56.0 100 3.25 0. 00 0.75

Ve IR R T 3.25 2.50 0. 00 0. 50 100. 0 0.0 0.0 100. O[HEAK M ks
56.0 100 ~ 56. 1 98 3.25 0. 00 0.75

Ve AR HE T 3.25 2. 00 0. 00 0. 50 20. 0 0.0 0.0 20. Ok P2
56. 1 98 ~ 56. 2 19 3.25 0. 00 0.75

Ve R R T 3.25 2. 00 0. 00 0.50 66.0 0.0 0.0 66. 0|7 2 7 7 )L b aidE
56. 2 19 ~ 56. 2 85 3.25 0. 00 0.75

Ve R R T 3.25 2.00 0. 00 0.50 14.0 0.0 0.0 14. O|HEAK M A
56.2 85 ~ 56. 2 99 3.25 0. 00 0.75
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Ve L R T 3.25 2. 00 0. 00 0.75 73.0 0.0 0.0 73. O[HEAKPE A
56.2 99 ~ 56. 3 70 3.25 0. 00 0.75

Ve R HE T 3.25 2. 00 0. 00 0.75 123.0 0.0 0.0 123.0|7 2 7 7 )L NfidE
56. 3 70 ~ 56.4 93 3.25 0. 00 0.75

Ve R T 3.25 2. 00 0. 00 0.75 4.0 0.0 0.0 4. O|BEAK A %
56.3 93 ~ 56.4 97 3.25 0. 00 0.75

Ve R T 3.25 1.90 0. 00 0.50 100. 0 0.0 0.0 100. O HE7k M2
56.4 97 ~ 56.5 93 3.25 0. 00 2.25

Ve R 3.25 2.40 0. 00 0.50 100. 0 0.0 0.0 100. 0| HE7k P2
56.5 93 ~ 56.6 98 3.25 0. 00 1. 00

Ve R 3.25 0.00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7k M2
56.6 98 ~ 56.7 98 3.25 0. 00 0.75

Ve R T 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. O HEAME&LE
56.7 98 ~ 56.8 101 3.25 0. 00 1.25

Ve R HE T 3.25 0. 00 0. 00 1.00 60. 0 0.0 0.0 60. 0| Pk M2k
56.8 101 ~ 56.9 55 3.25 0. 00 1.25

Ve VAR HE T 3.25 0. 00 0. 00 1.00 40. 0 0.0 0.0 40. 0|7 A7 7 )L - EfdE
56. 9 55 ~ 56.9 95 3.25 0. 00 1.25

Ve IR R T 3.25 0. 00 0. 00 1.75 79.0 0.0 0.0 79.0(7 2 7 7 L Nk
56.9 95 ~ 57.0 74 3.25 0. 00 1.75

Ve AR HE T 3.25 2.50 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L s
57. 0 74 ~ 57.2 6 3.25 2. 00 1. 00

Ve R R T 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
57.2 6 ~ 57.2 106 3.25 2. 00 1. 00

Ve R T 3.25 2.50 0. 00 0.75 47.0 0.0 0.0 47.0|7 A7 7 )b b &tk
57.2 106 ~ 57.2 153 3.25 0. 00 1.15
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Ve L R T 3.25 2.50 0. 00 0.75 27.0 0.0 0.0 27. O|HEA P il
57.2 153 ~ 57.2 180 3.25 0. 00 1.15

Ve R HE T 3.25 2.50 0. 00 0.75 26.0 0.0 0.0 26.0|7 27 7 L s
57.2 180 ~ 57.2 206 3.25 0. 00 1.15

Ve R T 3.25 1. 30 0. 00 1. 10 80.0 0.0 0.0 80. 0|7 2 7 7 /L I
57.2 206 ~ 57.4 91 3.25 2. 00 1.15

Ve R T 3.25 1. 50 0. 00 0.75 86.0 0.0 0.0 86. 0|7 A7 7 /L k&t
57.4 91 ~ 57.5 98 3.25 2.20 0.75

Ve R 3.25 0. 00 0. 00 1. 50 97.0 0.0 0.0 97.0| 7 A7 7 /L b &Lk
57.5 98 ~ 57.6 84 3.25 2.50 1. 00

Ve R 3.25 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 /L b Eifidt
57.6 84 ~ 57.7 81 3.25 2.15 1. 50

Ve R T 3.25 0. 00 0. 00 1. 00 19.0 0.0 0.0 19.0|7 2 7 7 /b b il
57.7 81 ~ 57.8 0 3.25 2.15 1. 50

Ve R HE T 3.25 0. 00 0. 00 1.00 81.0 0.0 0.0 81. 0| Pk M2k
57.8 0 ~ 57.9 4 3.25 2.15 1. 50

Ve VAR HE T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O Pk Pk
57.9 4 ~ 57.9 104 3.25 2.20 1.75

Ve L R T 3.25 0. 00 0. 00 0.75 90. 0 0.0 0.0 90. O|HEA P il
57.9 104 ~ 58.0 94 3.25 2. 00 0. 50

Ve AR HE T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7k M2k
58.0 94 ~ 58. 1 96 3.25 2. 60 0. 50

Ve R R T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O HEAPE%E
58. 1 96 ~ 58.1 197 3.25 2. 60 0. 50

Ve R R T 3.25 0.00 0. 00 0.75 100. 0 0.0 0.0 100. O HE7k M2
58.1 197 ~ 58.1 297 3.25 2.50 0. 50
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Ve L R T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O HEA M Gt
58.1 297 ~ 58.5 0 3.25 2. 00 0. 50
Ve R HE T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7k M2
58.5 0 ~ 58. 6 0 3.25 2. 00 0. 50
Ve R T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O HEAPEE%E
58. 6 0 ~ 58. 7 0 3.25 2. 00 0. 50
Ve R T 3.25 0.00 0. 00 0.75 100. 0 0.0 0.0 100. O HE7k M2
58.7 0 ~ 58.8 0 3.25 2.90 0. 50
Ve R 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O HEAME&i%E
58. 8 0 ~ 58.8 100 3.25 2. 00 0. 50
Ve R 3.25 0.00 0. 00 1.75 100. 0 0.0 0.0 100. O 7k M2
58.8 100 ~ 59. 0 5 3.25 0. 00 0. 50
Ve R T 3.25 0.00 0. 00 1.75 100. 0 0.0 0.0 100. O HEAPE&fLE
59. 0 5 ~ 59.0 105 3.25 0. 00 0.75
Ve R HE T 3.25 2. 50 0. 00 0.75 90. 0 0.0 0.0 90. O HE/k M2k
59.0 105 ~ 59. 1 95 3.25 0. 00 0.75
Ve WA R HE T 3.25 2. 50 0. 00 0.75 19.0 0.0 0.0 19. O|HEAK A%
59. 1 95 ~ 59. 2 14 3.25 0. 00 0.75
Ve IR R T 3.25 2.50 0. 00 0.75 0.7 0.0 24. 3 25. 0|7 A 7 7 U NEEEE 170
59. 2 14 ~ 59.2 39 3.25 0. 00 0.75
Ve AR HE T 3.25 2. 00 0. 00 0.75 46. 0 0.0 0.0 46. 0|7 27 7 L s
59. 2 39 ~ 59.2 85 3.25 0. 00 0.75
Ve W R HE T 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
59.2 85 ~ 59.3 84 3.25 0. 00 1. 00
Ve R T 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
59.3 84 ~ 59.4 94 3.25 0. 00 1. 00
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Ve L R T 3.25 2.20 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
59.4 94 ~ 59.5 96 3.25 0. 00 0.75
Ve R HE T 3.25 2.20 0. 00 0. 50 70.0 0.0 0.0 70.0| 7 2 7 7 L sk
59.5 96 ~ 59. 6 71 3.25 2. 50 0.75
Ve R T 3.25 2.50 0. 00 0.50 93.0 0.0 0.0 93.0|7 2 7 7 /L i
59. 6 71 ~ 59. 7 75 3.25 2.50 0. 50
Ve R T 3.25 0. 00 0. 00 0. 50 0.0 0.0 111.0 111. 0|7 A7 7 /b M EREE | =G
59. 7 75 ~ 59.8 86 3.25 2.50 0. 50
Ve R 3.25 0. 00 0. 00 0. 50 8.0 0.0 0.0 8.0[7 A7 7 /v Mk
59.8 86 ~ 59.8 94 3.25 2.50 0. 50
Ve R 3.25 0. 80 0. 00 0. 50 0.0 397.0 0.0 397.0(7 A2 7 7 )b MAHEE [k o xr
59.8 94 ~ 60. 2 90 3.25 2. 00 0. 50
Ve R T 3.25 0. 00 0. 00 1.25 21.0 0.0 0.0 21.0|7 A7 7 /L btk
60.2 90 ~ 60.3 24 3.25 2. 50 0.75
Ve R HE T 3.25 0. 00 0. 00 1.25 0.0 0.0 49. 0 49. 0|7 A7 7 )b EREE |4 ks
60.3 24 ~ 60. 3 73 3.25 2. 50 0.75
Ve AR HE T 3.25 0. 00 0. 00 1.25 98. 0 0.0 0.0 98.0|7 A7 7 )L EfdE
60. 3 73 ~ 60.4 84 3.25 2. 50 0.75
Ve L R T 3.25 0. 00 0. 00 0. 50 102. 0 0.0 0.0 102. 0|7 2 7 7 v RadidE
60.4 84 ~ 60.5 70 3.25 0. 00 0. 50
Ve AR HE T 3.25 2. 50 0. 00 0. 50 12.0 0.0 102. 0 114. 0|7 2 7 7 /v Na%E |soksis
60.5 70 ~ 60.6 87 3.25 0. 00 0. 50
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e W5 Bl 3.25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
67.0 96 ~ 67. 1 95 3.25 0. 00 0.75
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67. 1 95 ~ 67.2 94 3.25 0. 00 1.25
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Ve G 7 L 6. 50 4. 00 1. 50 0. 60 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
72. 1 33 7. 55 6. 50 1. 80 0. 50
Ve RO B 6. 50 3. 80 1. 50 0.50 90.0 0.0 0. 90. 0|7 A 7 7 /L bk
72.2 55 72. 45 6. 50 1. 80 0. 50
e G B 6. 50 2.50 1. 60 0. 50 120. 0 0.0 0. 120. 0|7 2 7 7 )L b EfidE
72.3 45 72. 65 6. 50 2. 00 0.75
e G BT 6. 50 2.50 1. 20 0.75 68. 0 0.0 0. 68. 0|7 A 7 7 /L b Lk
72.4 65 72. 29 6. 50 2. 50 0.75
e WG 5 B 6. 50 3.25 0. 00 0. 50 26. 2 0.0 25. 52.0| 7 2 7 7L Nl |wms
72.5 29 72. 81 9.75 2.50 0. 50
VB IG5 Bl 6. 50 2. 50 1.20 0. 50 83.0 0.0 0. 83.0(7 =27 7 /v Mk
72.5 81 72. 62 6. 50 2.50 0. 50
B R G B 6. 50 2. 40 1.20 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /b &k
72.6 62 7. 67 6. 50 1. 90 0. 50
e ROt B 6. 50 2. 50 1.20 0.75 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
72.7 67 72. 65 6. 50 2.20 0.75
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e WG 5 B 6. 50 2. 50 1.20 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
72.8 65 72. 65 6. 50 2.50 0.75

e W5 Bl 6. 50 2.30 1.20 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
72.9 65 73. 71 6. 50 2. 70 0.75

B R G B 6. 50 2.50 1. 20 0.50 29.0 0.0 0. 29.0|7 27 7 )L s
73.0 71 73. 0 6. 50 2.20 0.75

e ROt Bl 6. 50 2. 50 1. 40 0. 50 0.0 0.0 52. 52. 0|7 A7 7 )L MR |HR A6
73. 1 0 73. 52 6. 50 2. 50 0. 50

Ve R U5 Bl 6. 25 2. 50 1. 40 0.75 0.0 0.0 4, 4.0|7 A7 7 )v M (ERAH
73. 1 52 73. 56 6. 50 2. 80 0.75

Ve G 7 L 6. 50 2.50 0. 00 0.50 116.0 0.0 0. 116. 0|7 27 7 )L bl
73. 1 56 73. 71 6. 50 2. 60 0. 50

Ve RO B 6. 50 2.50 1. 20 0.50 100. 0 0.0 0. 100. 0|7 2 7 7 /L bl
73.2 71 73. 73 6. 50 2. 80 0. 50

e G B 6. 50 2. 60 1. 20 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
73.3 73 73. 70 6. 50 2. 40 0.75

e G BT 6. 50 2. 60 1. 20 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
73. 4 70 73. 71 6. 50 2. 50 0. 50

e WG 5 B 6. 50 2. 50 1.00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
73.5 71 73. 72 6. 50 2. 40 0.75

VB IG5 Bl 6. 50 2. 40 1.00 0.75 100. 0 0.0 0. 100. 0| 7 =2 7 7 /v &k
73. 6 72 73. 73 6. 50 2. 60 0. 50

B R G B 6. 50 2. 40 1.00 0. 50 80. 0 0.0 0. 80.0|7 A7 7 /L bk
73.7 73 73. 52 6. 50 2.50 0. 50

e ROt B 6. 50 2. 50 1.00 0. 50 120. 0 0.0 0. 120. 0| 7 A 7 7 /v &k
73.8 52 73. 72 6. 50 2.50 0.75
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e WG 5 B 6. 50 2. 50 1.30 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
73.9 72 ~ 74.0 68 6. 50 2.50 0.75
e W5 Bl 6. 50 3. 20 1.30 0. 50 90. 0 0.0 0.0 90.0[7 =2 7 7 /L Nk
74.0 68 ~ 74. 1 58 6. 50 2. 50 0.75
B R G B 6. 50 2.50 1. 30 0.50 6.0 0.0 0.0 6.0|7 A7 7 /b bk
74. 1 58 ~ 74. 1 64 6. 50 2. 00 0.75
e ROt Bl 6. 50 1.50 1.00 0.75 0.0 0.0 70.0 70.0| 7 A7 7L N | s
74. 1 64 ~ 74. 2 32 6. 50 2. 00 0. 45
Ve R U5 Bl 6. 50 2. 40 1. 30 0.75 26.0 0.0 0.0 26. 0|7 A7 7 /L b &Lk
74.2 32 ~ 74. 2 58 6. 50 2. 80 0.75
Ve G 7 L 6. 50 2. 40 1. 30 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
74.2 58 ~ 74.3 60 6. 50 2.50 0.75
Ve RO B 6. 50 2. 00 1. 00 0.75 15.0 0.0 0.0 15. 0|7 A2 7 7 b b il
74.3 60 ~ 74.3 75 6. 50 2.25 0. 50
e G B 6. 50 2.50 1. 00 0.75 0.0 0.0 97.5 97.5|7 27 7 /L MEHLE | - mkks
74.3 75 ~ 74. 4 72 6. 50 2. 00 0. 50
e G BT 6. 50 2. 60 1. 00 0.75 46. 0 0.0 0.0 46. 0|7 A2 7 7 )L b
74.4 T2 ~ 74.5 21 6. 50 2. 60 0.75
e WG 5 B 3.25 2. 60 1.00 0.75 67.3 0.0 12.7 80. 07 2 7 7 /b Nahdk | Il
74.5 21 ~ 74.5 91 3.25 2. 80 0. 50
VB IG5 Bl 3.25 2. 50 0. 00 0.75 11.0 0.0 0.0 11.0| 7 27 7 /L s
74.5 91 ~ 74.5 102 3.25 0. 00 0.75
B R G B 3.25 2.00 0. 00 0.75 86. 0 0.0 0.0 86.0(7 A7 7 /b Mgk
74.5 102 ~ 75.0 99 3.25 0. 00 0. 50
e ROt B 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
75.0 99 ~ 75. 1 98 3.25 0. 00 0. 50
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e WG 5 B 3.25 2. 40 0. 00 0. 50 86. 0 0.0 0.0 86.0|7 27 7 )L Ik
75. 1 98 ~ 75. 2 83 3.25 0. 00 0. 50

e W5 Bl 3.25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
75.2 83 ~ 75. 3 85 3.25 0. 00 0.75

B R G B 3.25 2.00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 v R e
75.3 85 ~ 75.4 89 3.25 0. 00 0.75

e ROt Bl 3.25 0. 00 0. 00 2.25 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /v &k
75.4 89 ~ 75. 5 86 3.25 0. 00 0.75

Ve R U5 Bl 3.25 1.80 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
75. 5 86 ~ 75. 6 82 3.25 0. 00 0.75

Ve G 7 L 3.25 5. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
75. 6 82 ~ 75. 7 82 3.25 0. 00 1.25

Ve RO B 3.25 5. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 /L bl
75.7 82 ~ 75. 8 81 3.25 0. 00 1.25

e G B 3.25 2.50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
75.8 81 ~ 75.9 81 3.25 0. 00 0.75

e G BT 3.25 3.50 0. 00 0.75 20. 0 0.0 0.0 20. 0|7 2 7 7 )L bk
75.9 81 ~ 76. 0 8 3.25 0. 00 0.75

e WG 5 B 3.25 3. 00 0. 00 0.75 81.0 0.0 0.0 81.0|7 A7 7 )L ik
76. 0 8 ~ 76. 0 89 3.25 0. 00 0.75

VB IG5 Bl 3.25 2. 00 0. 00 0.75 24.0 0.0 0.0 24.0(7 2 7 7 v ML
76. 0 89 ~ 76. 1 13 3.25 0. 00 0.75

B R G B 3.25 1.50 0. 00 0.75 81.0 0.0 0.0 81.0(7 A7 7 /v Mgk
76. 1 13 ~ 76. 1 94 3.25 0. 00 0.75

e ROt B 3.25 1.50 0. 00 0.75 80. 0 0.0 0.0 80.0|7 A7 7 )L i
76. 1 94 ~ 76. 2 74 3.25 0. 00 0.75
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e WG 5 B 3.25 2. 00 0. 00 0.75 120. 0 0.0 0. 120. 0|7 2 7 7 )L e
76. 2 74 76. 198 3.25 0. 00 0.75

e W5 Bl 3.25 2. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
76.2 198 76. 100 3.25 0. 00 0.75

B R G B 3.25 1. 80 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 v R e
76.4 100 76. 2 3.25 0. 00 1. 50

e ROt Bl 3.25 2. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 A2 7 7 /v &k
76. 6 2 76. 103 3.25 0. 00 1. 50

Ve R U5 Bl 3.25 2. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A 7 7 )L b il
76.6 103 76. 94 3.25 0. 00 1. 50

Ve G 7 L 3.25 2. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
76.7 94 76. 97 3.25 0. 00 1. 50

Ve RO B 3.25 2.20 0. 00 0.50 100. 0 0.0 0. 100. 0|7 2 7 7 /L bl
76.8 97 76. 95 3.25 0. 00 1. 50

e G B 3.25 2.20 0. 00 0. 50 92.5 0.0 7. 100. 0|7 2 7 7 /L b EREE |1F46
76.9 95 77. 90 3.25 0. 00 1. 50

e G BT 3.25 2.50 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
77.0 90 77. 85 3.25 0. 00 1. 50

e WG 5 B 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
77. 1 85 77. 91 3.25 0. 00 1. 50

VB IG5 Bl 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 =2 7 7 /v &k
77.2 91 77. 92 3.25 1. 50 1. 50

B R G B 3.25 2.00 0. 00 0.75 67.0 0.0 0. 67.0(7 A7 7 /v Mk
77.3 92 77. 67 3.25 2. 00 0. 50

e ROt B 3.25 1.50 0. 00 0.75 0.0 0.0 40. 40.0(7 A7 7 )b ML | BTG
77.4 67 77. 8 3. 00 1. 50 0.55
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Ve R AR RR A AT 3.25 1.50 0. 00 0.75 0.0 0.0 60. 60. 8|7 2 7 7 )L MEHEE | BTG
77.5 8 ~ 77. 68 3. 00 1. 50 0.55

P8 W VEAA TR RR A FH T 3. 00 1.50 0. 00 1.00 118. 2 0.0 0. 118. 2|7 =2 7 7 v ek
77.5 68 ~ 77. 90 3. 00 2. 00 0.75

8 IR VE A T BB AT HE T 3.00 1.50 0. 00 1. 00 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
77.6 90 ~ 77. 4 3. 00 2.50 0.75

Ve IR VE A T BB A H T 3.00 0. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
77.8 4 ~ 77. 20 3. 00 2.50 0.75

Ve R VAR ARG T 3. 00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
77.9 20 ~ 78. 15 3. 00 0. 00 0.75

Ve WL Va R TR A F T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
78. 0 15 ~ 78. 16 3. 00 2. 00 0.75

Ve WO AL TR A F T 3.00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L b &l
78. 1 16 ~ 78. 10 3. 00 2. 00 0.75

Ve R PE AT AR A AT 3. 00 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v b &lidk
78.2 10 ~ 78. 0 3. 00 2. 05 0. 50

Ve B PE AT AR A AT 3. 00 1.50 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
78.3 0 ~ 78. 11 3. 00 2.05 0. 50

Ve R PR RR A AT 3. 00 1.50 0. 00 0. 50 61.0 0.0 0. 61.0|7 27 7 )L EdE
78. 4 11 ~ 78. 72 3. 00 2.05 0. 50

P8 W VE AT RR A FH T 3.25 1.80 0. 00 0.75 0.4 0.0 56. 57. 0|7 A 7 7 /v NadEE lbsie
78. 4 72 ~ 78. 35 3.25 2.10 0.75

B IR VE A TR AR AT H T 3.00 2. 00 0. 00 0.75 82.0 0.0 0. 82.0|7 A7 7 )L bk
78.5 35 ~ 78. 117 3. 00 2. 00 0.75

Ve IR VA A TR BB A H T 3.00 3.25 0. 00 0.75 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
78.5 117 ~ 78. 73 3. 00 0. 00 0.75
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Ve R AR RR A AT 3. 00 3.25 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
78. 6 73 ~ 78. 89 3. 00 0. 00 0.75

P8 W VEAA TR RR A FH T 3. 00 3. 00 0. 00 0.75 19.0 0.0 0. 19.0| 7 27 7 /L s
78.7 89 ~ 78. 20 3. 00 0. 00 1.25

8 IR VE A T BB AT HE T 3.00 2. 50 0. 00 2. 00 81.0 0.0 0. 81.0|7 A7 7 )L bk
78.8 20 ~ 78. 10 3. 00 0. 00 1.25

e IR VE A TR B A H T 3.00 2. 50 0. 00 2.70 101. 0 0.0 0. 101. 0|7 A7 7 )L bl
78.9 10 ~ 79. 0 3. 00 0. 00 1.25

Ve R VAR ARG T 3. 00 2. 00 0. 00 1. 00 38.0 0.0 0. 38.0| 7 A7 7L [ &%k
79. 0 0 ~ 79. 38 3. 00 0. 00 0. 50

Ve WL Va R TR A F T 3. 00 1.50 0. 00 0. 50 61.0 0.0 0. 61.0|7 A7 7 )L MEfidE
79. 0 38 ~ 79. 28 3. 00 0. 00 0. 50

Ve WO AL TR A F T 3.00 1. 50 0. 00 0.50 100. 0 0.0 0. 100. 0|7 2 7 7 )L b &l
79. 1 28 ~ 79. 1 3. 00 0. 00 0. 50

Ve R PE AT AR A AT 3. 00 2. 00 0. 00 0. 50 87.0 0.0 0. 87.0|7 A7 7 )L EfdE
79.2 1 ~ 79. 2 3. 00 0. 00 0.75

Ve B PE AT AR A AT 3. 00 1.50 0. 00 2. 00 3.9 0.0 15. 19.0| 7 2 7 7 )b MEHEE [manes
79.3 2 ~ 79. 21 3. 00 0. 00 1. 00

Ve R P AT AR A AT 3. 00 2. 00 0. 00 0. 50 95. 0 0.0 0. 95.0|7 27 7 )L bk
79.3 21 ~ 79. 19 3. 00 0. 00 0.75

P8 W VE AT RR A FH T 3. 00 2. 00 0. 00 0. 50 74.6 0.0 6. 81.0[7 2 7 7 /v Nahdk |5)1iE
79. 4 19 ~ 79. 100 3. 00 0. 00 0.75

P8 IR VE A TR B A HE T 3.00 0. 00 0. 00 0. 50 122.0 0.0 0. 122. 07 =2 7 7 /v sk
79.4 100 ~ 79. 33 3. 00 0. 00 0.75

Ve IR VA A TR BB A H T 3.00 0. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
79. 6 33 ~ 79. 18 3. 00 0. 00 0.75
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Ve R AR RR A AT 3. 00 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
79.7 18 ~ 79. 12 3. 00 0. 00 0.75

P8 W VEAA TR RR A FH T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
79.8 12 ~ 79. 112 3. 00 0. 00 2. 00

8 IR VE A T BB AT HE T 3.00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
79.8 112 ~ 80. 17 3. 00 0. 00 0.75

e IR VE A TR B A H T 3.00 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
80.0 17 ~ 80. 104 3. 00 0. 00 1. 50

Ve R VAR ARG T 3. 00 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
80.0 104 ~ 80. 5 3. 00 0. 00 1. 00

Ve WL Va R TR A F T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
80. 2 5 ~ 80. 106 3. 00 0. 00 0.75

Ve WO AL TR A F T 3.00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
80.2 106 ~ 80. 99 3. 00 0. 00 0.75

Ve R PE AT AR A AT 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
80. 3 99 ~ 80. 92 3. 00 1. 50 0. 50

Ve B PE AT AR A HT 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
80.4 92 ~ 80. 84 3. 00 2. 00 0. 50

Ve R PR RR A AT 3. 00 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
80.5 84 ~ 80. 2 3. 00 2.20 0. 50

P8 W VE AT RR A FH T 3. 00 0. 00 0. 00 0. 50 86. 6 0.0 13. 100. 0| 7 2 7 7 /v R ahdk [piEis
80. 7 2 ~ 80. 103 3. 00 2.20 0. 50

P IR VE A T AR AT H T 3.00 1.50 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
80.7 103 ~ 80. 81 3. 00 2. 00 0. 50

Ve IR VE A T B A H T 3.25 0. 00 0. 00 0.25 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
80. 8 81 ~ 80. 82 3.25 2. 00 0.55
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Ve R AR RR A AT 3.25 2. 00 0. 00 0.25 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
80.9 82 ~ 81. 77 3.25 2. 00 0.25

P8 W VEAA TR RR A FH T 3.25 2. 50 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
81.0 77 ~ 81. 76 3.25 2. 50 0.75

8 IR VE A T BB AT HE T 3.25 3.00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
81.1 76 ~ 81. 77 3.25 3. 00 0.75

e IR VE A TR B A H T 3.25 3. 00 0. 00 0.75 62.0 0.0 0. 62. 0|7 A7 7 )L bk
81.2 77 ~ 81. 40 3.25 3. 00 0.75

Ve R VAR ARG T 3.25 3. 50 0. 00 0.75 0.0 0.0 8. 8.0| 7 A7 7 v Mk |=nis
81.3 40 ~ 81. 47 3.25 3. 00 0.75

Ve WL Va R TR A F T 3.25 0. 00 0. 00 0.75 30.0 0.0 0. 30. 0| 7 A 7 7 )L b4k
81.3 AT ~ 81. 77 3.25 3. 00 0.75

Ve WO AL TR A FH T 3.25 2. 60 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L b &l
81.3 77 ~ 81. 81 3.25 3.10 0.75

Ve R PE AT AR A AT 3. 00 2. 00 0. 00 1.00 100. 0 0.0 0. 100. 0| 7 2 7 7 /v b &lidk
81.4 81 ~ 81. 87 3. 00 2. 00 1. 00

Ve B PE AT AR A AT 3. 00 1.50 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bl
81.5 87 ~ 81. 67 3. 00 2. 00 0.75

Ve R A AR RR A AT 3. 00 0. 00 0. 00 0.75 15.0 0.0 0. 15. 0|7 2 7 7 )b s
81.6 67 ~ 81. 82 3. 00 2. 00 0.75

V8 W VEAA TR RR A FH BT 3. 00 0. 00 0. 00 0.75 311.2 0.0 13. 325. 0|7 A2 7 7 L NEEE |wsts. M
81.6 82 ~ 82. 0 3. 00 2. 50 1. 00

P IR VE A T AR AT H T 3.00 2. 00 0. 00 0. 50 60. 0 0.0 0. 60. 0|7 A7 7 )L bk
82.0 0 ~ 82. 96 3. 00 2. 00 0. 50

Ve IR VA A TR BB A H T 3.00 2. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
82.0 96 ~ 82. 67 3. 00 1. 60 0. 50
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Ve R AR RR A AT 3. 00 2. 00 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
82. 1 67 ~ 82. 98 3. 00 2.50 0. 50
P8 W VEAA TR RR A FH T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
82. 2 98 ~ 82. 97 3. 00 2. 50 0. 50
8 IR VE A T BB AT HE T 3.00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
82. 3 97 ~ 82. 87 3.00 2. 00 0. 50
e IR VE A TR B A H T 3.00 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
82.4 87 ~ 82. 66 3.00 2. 00 0. 50
Ve R VAR ARG T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
82.5 66 ~ 82. 81 3.00 2. 00 0. 50
Ve WL Va R TR A F T 3. 00 0. 00 0. 00 0.75 90. 5 0.0 9. 100. 0| 7 2 7 7 /v N ah%E i
82. 6 81 ~ 82. 92 3.00 2. 00 0. 50
Ve WO AL TR A F T 3.00 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L b &l
82.7 92 ~ 82. 76 3. 00 2. 50 0. 50
Ve R PE AT AR A AT 3. 00 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v b &lidk
82.8 76 ~ 82. 89 3. 00 2. 50 0. 50
Ve B PE AT AR A AT 3. 00 1.50 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
82.9 89 ~ 83. 90 3. 00 2.15 0. 50
P WA PR RN ER A FE T 3.00 2.00 0. 00 0.50 95. 4 0.0 4. 100. 0|7 A 7 7 )b bafidE | esing
83.0 90 ~ 83. 90 3. 00 0. 00 1.25
P8 W VE AT RR A FH T 3. 00 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 =2 7 7 /v &k
83. 1 97 ~ 83. 98 3. 00 2. 00 1.75
P IR VE A T AR AT H T 3.00 2. 00 0. 00 0.75 87.5 0.0 0. 87.5|7 A7 7 )L bk
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